Grilă de notare la fizică
	Nr item
	Soluţie, rezolvare
	Punctaj

	I. 1.
	b.
	1 p

	   2.
	b.
	1 p

	   3.
	c. 
	1 p

	   4. 
	b.
	1 p

	   5.
	a.
	1 p

	   6.
	b.
	1 p

	   7.
	b.
	1 p

	   8.
	d. 
	1 p

	   9. 
	c.
	1 p

	  10.
	a.
	1 p

	
	Total subiect I
	10p

	II.a.
	Pentru:


[image: image1.wmf]p

Emgh

D=××

,
2p

 unde
[image: image2.wmf]2500

hm

=


3p


[image: image3.wmf]2,5

p

EMJ

D=

,                                                       
1p


	5p



	II. b
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	II.c
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Energia furnizată de un baton de ciocolată : 
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Randamentul 
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	Total subiect II
	20p
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